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Question No. 1
In which of the following cities is the longest beach in India located?
A) Mangalore B) Chennai

C) Mumbai D) Cochin

AR FT FGY o WG A€ Fo W forw Y F e #2

A) HITER B) Jeels
C) HFeIs D) hielier
Answer Key : B Your Response : Not Answered

Question No. 2

If a person weighs 66 kg on the Earth, how much is his weight on the moon?
A) 55kg B) 11 kg

C) 132kg D) 77 kg

I fordl Safea &1 IR qar W 66 foham §, o UgdT W 3Her R R gem?

A) 55 E B) 11 Thar
C) 132 Thar D) 77 TRar
Answer Key : B Your Response : B (Correct)

Question No. 3

If P and Q together can do a job in 15 days, Q and R together can do it in 12 days and P and R
together can do the same in 20 days, then in how many days will the job be completed, if all the
three work together?




C) 10 days D) 14 days

Ifg P 3k Q fAesw el & @ 15 &t & U v @ 8, Q 3R R et 3@ &1 @ 12
et F = wda § 3k P 3k R et 5@ 20 RaT & o ¥a §, o =l Ree 33 &3 =
forer it 31 qu e

A) 4 & B) 6 f&ot
C) 10 &t D) 14 fea
Answer Key : C Your Response : C (Correct)

Question No. 4

What is the distance of the principal focus F from the pole P of the spherical mirror called?
A) Image distance (v) B) Focal length (f)

C) Object distance (u) D) Virtual distance

el ST F T P & FTT Bk F A gl S FAT Fgl S g2

A) gfafds & gr (v) B) wrhd g (f)
C) a&q @I gl (u) D) 3memer ol
Answer Key : B Your Response : B (Correct)

Question No. 5

Complete the series.

SHG, RIF, QJE, PKD, (...)

A) NMC B) OLC
C) NLB D) OLE
Aofr & ot

SHG, RIF, QJE, PKD, (..



C) NLB D) OLE

Answer Key : B Your Response : B (Correct)

Question No. 6

Burning of fossil fuels causes increased amounts of carbon dioxide in atmosphere and what is
the name of the harmful effect caused due to this?

A) Pollution effect B) Chemical effect

C) Greenhouse effect D) Carbon effect

SHARA $UT & Selel W AIAIGRYT H el STHIHTFASS HI AW H g g5 & N 50 FROT gt
e I RE UHIT FT AT A1 §7

A) SEHUT SHTE B) A gerrd
C) MNTer3d Ta D) el WoITa
Answer Key : C Your Response : C (Correct)

Question No. 7
Who among the following scored the first-ever triple century in a test match?
A) Virender Sehwag B) Andy Sandham

C) Brian Lara D) Chris Gayle

T & ¥ frae R e A9 # ggd-aR Qe ads T Ar?

A) dR=s HgamT B) Udr HyuH
C) ST aIRT D) fohd Jter
Answer Key : B Your Response : C (Wrong)

Question No. 8

Find the ODD one out from the given options.




0 D)
fET av Remedt # @ 3rEeT F A

A) B)
0 D)

®

Answer Key : C

If tan(A + B) = 0, then-

A)

<

Your Response : C (Correct)

Question No. 9




tanA+tanB=0 tanA=tan B

0 D)

21:311A+tanB=1 2tanA—:tanB:
l-tan Atan B l1+tanAtan B

Ifg tan(A + By =0, aI-

A) B)
tanA+tanB=0 tanA=tanB
0 D)
2tanA +tan B _q 2tanA+tanB
l-tanAtan B l+tan Atan B
Answer Key : A Your Response : A (Correct)

Question No. 10

The length of a rectangle is halved, and its breadth is tripled. What is the percentage change in
its area?

A) 50% increase B) 50% decrease

C) 75% decrease D) 25% increase




yfarera aRade sra Hifarel

A) 50% Fodr gl B) 50% #edr gl
C) 75% ®edr gl D) 25% s&dr &l
Answer Key : A Your Response : C (Wrong)

Question No. 11

The longest bone in the body is the-

A) Femur B) Scapula
C) Spine D) Humerus
R F T A g Fhe o &2
A) SIE T g8 B) &Y T ggar
C) g & gss D) weifser
Answer Key : A Your Response : Not Answered

Question No. 12
Who presided over the inaugural meeting of the Constituent Assembly of India?
A) Dr. B.R. Ambedkar B) Dr. Rajendra Prasad

C) Sachchidananda Sinha D) P. Upendra

AR I G T fT TUH d3F I eqeTar Faa a2

A) 3l B.R. 3/FagHT B) 3f. Ieig WG
C) HiTuclie T8egr D) P. 34g
Answer Key : C Your Response : Not Answered

Question No. 13

In a certain code, 'LANDMINE' is written as 'PYRBQGRC'. How will 'HOMEMADE' be written in
that code?

A) LMOCOZID B) LMPCOYHC

——— e E Ey
I e T T R e S e 0] Y




afe s faRera gesmsr & 'LANDMINE' %I 'PYRBQGRC' for@m Srem §, o 3 gesmwr #
'HOMEMADE' %I &% forar simeam?

A) LMOCOZID B) LMPCOYHC
C) LMPCPZID D) LMQCQYHC
Answer Key : D Your Response : D (Correct)

Question No. 14

Valence shell is the shell of every element.
A) First B) Middle
C) Penultimate D) Outermost
HAS FIR1(Valence shell) gX dcd &1 I I gl
A) 9IH B) ALY
C) dEgdH ¥ Ugel D) daregdH
Answer Key : D Your Response : D (Correct)

Question No. 15

How many triangles are there in the givenfigure?

A) B)

24

o Er = e = T b, (ol 3 AT N /
i 2 BN G T e AR By e 3 e A a e ) w!;;/



19

&1 75 3 H fohae feger 87
A B
) 15
24
C D
) ) g
19
Answer Key : B Your Response : Not Answered

Question No. 16

If 'ELCSUM' is coded as '"MUSCLE', how will 'LATIPAC' be coded?
A) CONDUCE B) CONFESS

C) CAPRICE D) CAPITAL

e 'ELCSUM' s 'MUSCLE' sifsd forar Sirar &, aF 'LATIPAC' & @ +if3d fFar smeem?

A) CONDUCE B) CONFESS
C) CAPRICE D) CAPITAL
A e+ v [ i e T e B e 4 lena




Question No. 17

Which of these pairs of numbers CANNOT be the last two digits a, b in 21022ab, if it is divisible
by both 8 and 5?

A) a=2,b=0 B) a=0,b=0

C) a=8,b=0 D) a=4,b=5

IfE 21022ab #r 8 3R 5 AT & faenfora Brar Smar 8, @ s ¥ W W wEA oA, HEA
21022ab ¥ 3ifa# & 3% a, b A& & THd 872

A) a=2,b=0 B) a

I
A
o
I
o

C)a=8,b=0 D) a

I
b
(op

I
(@]

Answer Key : This Question is dropped and
. . . . Your Response : D
will not be consider during the evaluation

Question No. 18

Why should an electrician wear rubber gloves while repairing an electrical switch?
A) To avoid electric shock B) To handle the devices easily

C) To clean the switch D) To avoid slipping of materials

fiega e fr AT WA AT SAFRRYT A TR F GEAE FA Jgeial AMT?

A) TSSTell & 3ceh & el & folT B) 3USUI I TR F g3cT del oh ol
C) ad &l A% i & T D) AT &l el & Fa1 & fov
Answer Key: A Your Response : A (Correct)

Question No. 19

Which of the following games is associated with Thomas Cup?
A) Football B) Badminton

C) Hockey D) Basketball

farafaf@a & @ =i a1 @« diag F7 F w6t 87

\J : D = = ¥ =S D= o 2 = Y /
A\ TRAaTAT IS e T R et e e my /



C) gler D) SEdeaTe

Answer Key : B Your Response : Not Answered

Question No. 20

If x = 28 and x* = 2V, then find the value of 'y".
A) 1 B) o4

C) o64 D) oM

Ifg x = 28 3T xX = 2V, A 'y @ AT AT AT

A) 1 B) o4
C) o64 D) o1
Answer Key : D Your Response : Not Answered

Question No. 21

Find the ODD one out from the given options.

A) 25 B) 60
C) 30 D) 15
Ry e fasest 3 & T B T
A) 25 B) 60
C) 30 D) 15
Answer Key : A Your Response : A (Correct)

Question No. 22

In this question, two statements are given followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically.

Statements:
1) Some fools are intelligent.

9\ @Ama rhildran ardE 4




Conclusions:
|. Some fools are children.
Il. All children are intelligent.

A) Neither conclusion | nor Il follows B) Only conclusion | follows

C) Both conclusions | and Il follow D) Only conclusion Il follows

39 WS A, o FYAl F 9 o sy B aw §) 3w Fewd @) w@r g S arfee s § wed
39gerd Bl

1) ¥ 7Y@, IRA &

2) o =, JRAR §l

fors:
. o 7Y@, T= &l

II. T s==, giee B

A) & @ foshy | 3R &1 81 1l 3ugerd § B) el fsehy | 3ugeFa &
C) &t fasehy | 3R Il 3ugeFd & D) ael fashy Il 3ugerd &
Answer Key : A Your Response : Not Answered

Question No. 23

An article is marked 20% above the cost price and sold at a discount of 20%. What is the net
result of this sale?

A) 10% gain _B) No profit or loss

IS B % X e P —n Sl E— oy = i
EL NS Rl RS i i e e b dlem e B e sy /




UF T H AT Hed, FT T @ 20% 0F § AR 3/ 20% Hr g 9 A9 AT T 59
foshr &1 g RO AT ffS)

A) 10% <reT B) IS oo AT gifel AT
C) 10% grfar D) 4% grfer
Answer Key : D Your Response : Not Answered

Question No. 24

Which word will best complete the relationship given below?

Needle : Sew :: Knife : ?
A) Cut B) Drive

C) Feed D) Grind

FieT AN eg A U a0 Hefer = e alr § T Fam?

A) FreaT B) Tellel
C) @rer D) dr=T
Answer Key : A Your Response : A (Correct)

Question No. 25

A boat goes upstream at 36 km/h and downstream at 40 km/h. The distance covered in each
trip being the same, find the speed of boat in still water.

A) 45 km/h B) 34 km/h

C) 38 km/h D) 2 km/h

- T T . s a0
—— 0o I e T R et e R ) m:&? / ]-S- AN O | e Ny




TS AT A T T IS g HN FAR @ GO, A S A AT A G AT Rl

A) 45 TRaT / ger B) 34 T / ger
C) 38 forelT / Har D) 2 f&sr / ger
Answer Key : C Your Response : C (Correct)

Question No. 26

Find the LCM of 2/3 and 6/7.
A) 6/21 B) 12/21
C) 2/21 D) 6

2/3 3X 6/7 1 &. . 9. (LCM) i Hifaw]

A) 6/21 B) 12/21
C) 2/21 D) 6
Answer Key : D Your Response : D (Correct)

Question No. 27

Which Greek letter denotes wavelength?

A) Epsilon (g) B) Mu (u)
C) Omega (w) D) Lambda (A)
FleT A fh 38T T S&F T qRifr 32
A) TEHAl (¢) B) = (W
C) 3T (w) D) &FsT (A)
Answer Key : D Your Response : D (Correct)

Question No. 28

Who among the following took charge as the MD, CEO of Yes Bank in March 2019?

A) Ravneet Gill B) Amitabh Chaudhry

~ | mAY ALt o e
C) Pallav MOhapatr‘l e e s N e T e G e G B ) o O .'rz;’/ ]



AT & O fhusr AT 2019 & 39 % F waHd, WS F T F AR FgoT FHAT?

A) T Brer B) 3ifHameT Terdy
C) Yeold HEMTH] D) 3nfecT qdr
Answer Key : A Your Response : Not Answered

Question No. 29

State two factors on which the electrical energy consumed by an electric appliance depends.

A) The power rating of the appliance and the B) The energy and the time for which it is

time for which it is used used

C) The voltage and the current D) The power rating and the temperature

tF Rega 3TaOT 7 =97 @1 arel fagga Feit et ar FRep W IR e 87

A) 3uaor & afdd I 3R g 3UFT & B) Fall 3R TG IUIANRT F TFHT W
TAT |

C) dlecel 3R 4T W D) erfgd I 3R a0 W)

Answer Key : A Your Response : Not Answered

Question No. 30

P works twice as fast as Q. Q alone can complete some work in 12 days. Working together,
how long will P and Q take to complete the work?

A) 8 days B) 4 days

C) 6 days D) 10 days

P, Q & ar 0 aof & #F Far g1 Q 3rFenm e #:F &1 12 Rt F qu o< wwar §1 P 3K
Q F TF AY e 38 FE H QU W J Frcer @77 s@em?

A) 8 f&et B) 4 f&
C) 6 fea D) 10 fea
Answer Key : B Your Response : B (Correct)

Question No. 31
=0

s S % e R e Sl [ e
IS e T S e e

/
sy /



A) Bromine B) Hydrogen

C) Graphite D) Phosphorus

frfaf@a # ¥ e & g Rega 9 gaos &2

A) SHET B) gEsrelel
C) Jwsc D) ®BRFARA
Answer Key : C Your Response : C (Correct)

Question No. 32

What is the area included between a circle and an inscribed square of side 'a' units?
A) a?*(2t - 1) sq. units B) (a%2)(1r - 2) sq. units

C) a*2 - 1) sq. units D) 2a3*(1 - 2) sqg. units

TS god 3R 3TF 3T AT '’ o a1 T F 9T Fieafea aEdd A fifew?

A) a22m - 1) T SFS B) (a%/2)(Tr - 2) I3 SHIS
C) a2 - m) T3 SHE D) 2a*1 - 2) J9T1
Answer Key : B Your Response : Not Answered

Question No. 33

Why does a mechanic apply grease between the moving parts of a bicycle or a motor?
A) To clean the parts B) To make the parts look shiny

C) As a lubricant to reduce friction D) To remove rust

Adfaren, asfe a1 Al & afaehe feal & 9w da =t «emar g2
A) Geif @ AT e & fow B) Tsif &l TH$CR Fallel & T
C) °YUT Fl A Il & folU g & FT H D) 97 glod & (oW

Answer Key : C Your Response : C (Correct)

Question No. 34

=t P el ey e e o = LT et | -y /
I e & LB N o S Pt P R B o e ) A ) m.’&y/




the speed of the first vehicle?
A) 65 km/h B) 85 km/h

C) 70 km/h D) 75 km/h

ar argeit T AT F HeqAT 7: 8 ¥l I qE AT 5 € F 400 A fr qf a7 Faw g,
qgel dlgeT T Tl A P

A) 65 fral/Eer B) 85 feral/aer
C) 70 fars/eer D) 75 fraireer
Answer Key : C Your Response : C (Correct)

Question No. 35

Choose from the alternmatives the figure that best completes the

pattern given below.

A) B)

0 D)




few o1v Reedt 7 ® 37 ampla 9o, S A T e e W@ e

arl

A)

O

kd

Answer Key : D

B)

D)

Your Response : D (Correct)

Question No. 36

What is the expansion of NASA?

A) National Agency of Space Administration

C) National
Administration

Aeronautics and Space

B) Navigational Aeronautics and Space

Administration

D) National Aeronautics and Space Agency

NASA T qUT &7 I §7?
A) JETeT Teldl A% TIw  usfAfaeee

(National Agency of Space

Administration)

C) YT WiHicdd Us o TsfAfaeees

(National Aeronautics and Space

B) aAfaererter TR T
vl

and Space Administration)

D) =il WiAlleard U8 T9F Toiar (National

Aeronautics and Space Agency)

=

Aeronautics

T3
(Navigational

Administration)

[ P D e e e fes 1 R = By LR N =T
I e il e e e T O e S G ST 0 '-:c:fy / ]



Answer Key : C

What does insulin regulate?
A) Reproduction

C) Blood glucose level

Your Response : Not Answered

Question No. 37

B) Heart beat

D) Physical growth

SqfenT fhdr Rfama & 82

INREECC

C) I&Fd AT HI T

Answer Key : C

Complete the series.

8888, 666, 44, (...)

B) %ad dfd
D) e faeprer

Your Response : C (Correct)

Question No. 38

A) 20 B) 2
C) O D) 22
Aol S QT H

8888, 666, 44, (...

A) 20 B) 2
C) O D) 22

Answer Key : B

Find the missing number in the following series.

864, 432, 440, 220, (...), 114

Your Response : B (Correct)

Question No. 39

AY 237 I e T T R e S e 0]



C) 232 D) 228

fRrafaf@a Aol # oy @& w1 Hifsw|

864, 432, 440, 220, (..), 114

A) 237 B) 239
C) 232 D) 228
Answer Key : D Your Response : D (Correct)

Question No. 40

The smell of the perfume reaches our nose quickly due to the process of-
A) Diffusion B) Condensation

C) Evaporation D) Fusion

fore afsRaT % FROT $7 N I FANT 1 T Sledl § g el §7

A) faator B) Heell
C) arsdraor D) Helgd
Answer Key : A Your Response : A (Correct)

Question No. 41
Find the value of cos 120° cos 240° cos 180° cos 60°.
A) -1/8 B) 1/2

C) 1/4 D) 1/16

cos 120° cos 240° cos 180° cos 60° &I HIA FATd HITT]
A) -1/8 B) 1/2

C) 1/4 D) 1/16

s I b e P s 2t B P F 5/
I e T T R e S e 0] Y




Question No. 42
The Sabarmati River orginates from which Indian State?
A) Uttar Pradesh B) Gujarat

C) Bengal D) Rajasthan

HISHAN F7d ART & Fg U7 ¥ AFperar &2

A) Fca g B) IR
C) samet D) ISTEATeT
Answer Key : D Your Response : Not Answered

Question No. 43

The sum of ages of 5 children born at intervals of four years is 80. What is the age of the eldest
child?

A) 16 B) 24

C) 18 D) 28

4 9§ & e W YT gt arer 5 gl i I F AT 80 T WHY I3 T ¥ MY forcrelr 82

A) 16 B) 24
C) 18 D) 28
Answer Key : B Your Response : Not Answered

Question No. 44

Plaster of Paris hardens by-

A) Giving of carbon dioxide B) Changing into CaCOg3
C) Giving out water D) Combining with water
TR 3w AR FON & ST g

A) FEA IS IFATSS ScATST Fh B) CaCO3; # gRafdd gl

MY T T e A e e e e R e e I 4 ]



Answer Key : D

Your Response : D (Correct)

Question No. 45

In whose court was Chanakya a minister?

A) Chandragupta Maurya

C) Bindusara

B) Ashoka

D) Dasharatha Maurya

IO fFad @R 7 #Har A7
A) TgIred HF

C) fewgar

Answer Key : A

The unit of Joule per Coulomb is-

A) Ampere (A)

B) 3mels
D) &RY AT

Your Response : Not Answered

Question No. 46

B) Joule (J)

C) Volt (V) D) Coulomb (C)
SRR H HE HA T

A) TERR (A) B) Sl (J)

C) drec (V) D) e (C)

Answer Key : C

Your Response : C (Correct)

Question No. 47

Who among the following discovered the presence of neutrons in the nucleus of an atom?

A) E. Rutherford

C) E. Goldstein

B) J.J. Thomson

D) J. Chadwick

fRefaf@d & & e RA] & Jiffis & Sggiar Hr sufeufa fr e fr?

A) E. WIS

B) J.J. utHde

IS P
—_ — J Y o W e i L8 LA,

—— = T =T —
- ' CF o P IR = TP el ) < | /
S S e RIS e A nr.*E? /



Answer Key : D Your Response : A (Wrong)

Question No. 48

Kiran Bedi is the present Lieutenant Governor of-

A) Karnataka B) Puducherry
C) Goa D) Kerala
fRoTady & 9dAsT 3RS gl
A) FHeicdh B) gl
C) dmar D) e
Answer Key : B Your Response : Not Answered

Question No. 49

Read the following information carefully and answer the question given below.

Eight captains of different football teams—Russia, Brazil, India, Argentina, Mexico, Peru, Spain
and Japan are sitting around a circular table and are facing the centre, but not necessarily in
the same order. Indian captain sits third to the left of the Mexico captain. Only two people sit
between the Russian captain and Spain captain. Neither the Russian captain nor Spain captain
is an immediate neighbour of the Indian captain. The captain of Japan sits second to the right of
the Peru captain. Peru captain is not an immediate neighbour of the Indian captain. The
Russian captain sits third to the left of the Indian captain. Captains of Argentina and Brazil are
not immediate neighbours. Argentina captain sits third to the left of the Peru captain.

Which of the following captains sits to the immediate right of the captain of Mexico?
A) Spain B) Russia

C) Argentina D) Peru

ff@a IaRT #r e & 3¢ 3R J RE 1w wReT #r 3caw &I




e’ AT F GRI 3R Fg i AT H{g FF 35 §, AfheT 3o 8 & # glewr AT 74 B
SR & Flel, ATFAR & Foclel & a5 3 W TART | 95 §1 §F & FeanT 3R VT &
FTAT & AT hael &I T 85 g1 TF & FoleT 3 Tl & Fodled H F FS M ART & FodleT
T Phead TPl 8 & U F Fee, IE F Fe F a3 g TUT RIS E W F
Fodled, AR & FHdlT & oiheadd IS 6 &1 T & Foaid, HRA & Hoded F a5 3R W
T W 35 §1 3T 3R Feiad & Fode Apedd gl 78 §1 36 & FeaeT 9%
Fodlel & a5 AR IR T | 35 8

Ffaf@a & O #ia a1 Feae, AT & FodeT F a5 3T THeH F91d J T &7

A) E B) &H
C) 3SicrEr D) 9%
Answer Key : D Your Response : Not Answered

Question No. 50

If in a certain language 'CASUAL' is coded as 'GEWYEP', how is 'PEOPLE' coded in that
language?

A) TISTPI B) SHRSOH

C) SIRTOL D) THSTOI

afe felr Fesmr ¥ 'CASUAL' #r 'GEWYEP' for@r e &, @ 3 o 3 'PEOPLE' &t &%
forar smeam?

A) TISTPI B) SHRSOH
C) SIRTOL D) THSTOI
Answer Key : A Your Response : A (Correct)

Question No. 51

What is the chemical symbol for nitrogen gas?

A) Na [ e W e b R e TP sttty 4



EcieteT AW T TR Udid = &2
A) Na B) Ni
C) N2 D) N+
Answer Key : C Your Response : C (Correct)

Question No. 52

Sam is facing east and moves 5 km forward. After reaching 5 km, he turns left side two times.
Which side is he facing now?

A) South B) East

C) North D) West

o7 & farm dr 3R 5 et Terar 81 5 el 9o & 91Q, a7 & IR 9% AN A3A T I W@
mﬁarrfrsmﬂ%mgaﬂ%?

A) eferor B) &
C) 3cR D) ufga#
Answer Key : D Your Response : D (Correct)

Question No. 53

'Cataract' is a disease that affects the

A) Heart B) Eyes
C) Ears D) Legs
Ffanfde e Sl §, S S TS e B
A) T&F B) @
C) &l D) W
Answer Key : B Your Response : B (Correct)

e Tl R R Sl [ o) -y /
I e & LB N o i Pt AP R B o e ) A ) m.’&y/



A train P starts from Meerut at 4 p.m. and reaches Ghaziabad at 5 p.m., while another train Q
starts from Ghaziabad at 4 p.m. and reaches Meerut at 5:30 pm. At what time will the two trains
cross each other?

A) 4:42 p.m. B) 4:48 p.m.

C) 4:50 p.m. D) 4:36 p.m.

Th (AT P A @ AH 4 1 Tolell YE Rl § AR A 5 For amferdieie Gguch ¢ Safn
qE YeEEr Q IS | AR 4 Fof Folell YE e § 3R AP 5.30 Fof A Fgae g kil
YMTEAT T gAY A R WHT IR HE?

A) TH 4:42 S B) QItH 4:48 St
C) emH 4:50 saF D) em#H 4:36 st
Answer Key : D Your Response : Not Answered

Question No. 55

MnO5 + 4HCI —-MnCl, +2H50 + Cl5 is an example of-

A) Combustion reaction B) Combination reaction

C) Precipitation reaction D) Redox reaction

MnO, + 4HCI —MnCly +2H,0 + Cl, & T 30T gl

A) gt AT B) TIISleT 3TaAfhaT

C) 3faeiqur rfafsRar D) 3= (YEied) fAfshar
Answer Key : D Your Response : D (Correct)

Question No. 56

Which creature grows again after it is cut into half?
A) Earthworm B) Cockroach

C) Lizard D) Frog

FieT AT SNT & gohel # Fe I & a5 AR & 5g S &2
A HTT I e T e e S N0 oy




C) T&aehelr D) #Hcsd

Answer Key : A Your Response : A (Correct)

Question No. 57

Blood is an example of ___ type of tissue.
A) Epithelial B) Nervous
C) Muscle D) Connective
WA ______ YR & FaF T UF 3G ¢
A) 39EdT B) df¥ehrr
C) AT D) &3St
Answer Key : D Your Response : Not Answered

Question No. 58

Simplify: 1/4 + 3/8 - 1/2 + 3/4 - 1/3
A) -13/24 B) 17/24

C) 5/24 D) 13/24

T hIfT: 1/4 + 3/8 - 1/2 + 3/4 - 1/3

A) -13/24 B) 17/24
C) 5/24 D) 13/24
Answer Key : D Your Response : A (Wrong)

Question No. 59
The common name of sodium hydrogen carbonate is-
A) Common salt B) Epsom salt

C) Milk of magnesia D) Baking soda

AfSTH g2 Pl FHI THA 1 T &2

o] 7 R = . 3 S 2 S J /
I e & LB N o S Pt P R B o e ) A ) nl.’&y /




C) fAew 34 HAefd=r D) Sfeher Arer

Answer Key : D Your Response : D (Correct)

Question No. 60

Find the total surface area of a hollow hemispherical bowl of diameter 14 cm and negligible

thickness.
A) 576 cm?22 B) 628 cm?22
C) 616 cm?22 D) 526 cm?22

14 ¥ oa@ 3R S0 Al 9 U6 W@ SR FER F Pl JSOF &b Al
EAE L

A) 576 T3 q#Y B) 628 adf TeT
C) 616 T @i D) 526 @t @«
Answer Key : C Your Response : Not Answered

Question No. 61

On which dates will Sundays come in February 20207

A) 3,10, 17, 24 of February B) 8, 15, 22, 29 of February

C) 2,9, 16, 23 of February D) 5, 12,19, 26 of February

HLERT 2020 F et fAfRAT &1 R gem?

A) &I 3, 10, 17, 24 B) wiadr 8, 15, 22, 29

C) walr 2, 9, 16, 23 D) wadl 5, 12, 19, 26
Answer Key : C Your Response : Not Answered

Question No. 62

Complete the series.




148, 150, 156, 168, (...)

A) 174 B) 182
C) 176 D) 188
Aol Fr quT H|

148, 150, 156, 168, (.)

A) 174 B) 182
C) 176 D) 188
Answer Key : D Your Response : Not Answered

Question No. 63

Which vitamin is used for the treatment of common cold?
A) Vitamin'A’ B) Vitamin'C'

C) Vitamin 'D’ D) Vitamin 'B'

WA S[HHA & geolrel & AU e R@erfds w1 s9der frar s 82

A) ferfae A B) e 'C'
C) fderffsr D' D) faerfde 'B'
Answer Key : B Your Response : Not Answered

Question No. 64

India Post Payments Bank (IPPB) has tied up with which Insurance company to provide
insurance to all?

A) Bajaj Allianz Life Insurance B) Birla Sun Life Insurance

C) New India Assurance D) ICICI Prudential Life Insurance

s B % Wy e Py =l o el 7 l
I e & LB N o S Pt P R B o e ) A ) m.’&y/




$f3ar Wi 9w d% (IPPB) @ @8t A T yea et & v forg fier el & W1 IreasT
har 82

A) dorreT JfeieT dEE 529Rd B) foRell @ s® S9IRH
C) =g gfsar vy D) ICICl ERIEe d5® 3R
Answer Key : A Your Response : Not Answered

Question No. 65

Which of these is India's first indigenously built submarine?
A) Vikram B) Vijay

C) Shalki D) Vikrant

ST W Pt AR Fr Tgen Tew AT gegedr 872

A) fas#a B) fasir
C) et D) fawia
Answer Key : C Your Response : Not Answered

Question No. 66

An aeroplane is moving at a constant altitude 'h'. At 10:00 AM, it is seen at an elevation of 30°.
1 minute later, it is observed at an elevation of 60°. If the speed of the plane is 960 km/h, then
find 'h'.

A) 13.86 km B) 15 km

C) 12.46 km D) 20 km

T&h gare Sige [T 391§ 'h' W 35 T@T &1 Wi 10:00 &=, I8 30° & 3oeided 0T W @
gaT 1 1 e 915, Ig 60° F 3o=igel HIUT W @S &ar &1 IR [T v arer 960 Rraly / wer
g, a 'h' & #eT AT ffFw)

A) 13.86 oY B) 15 feraT
C) 12.46 foraT D) 20 feraT
Answer Key : A Your Response : Not Answered

s 8 £ PN )= T, 7
I e & LB N o S Pt P R B o e ) A ) w!;;/ ]



Butanone is a four-carbon compound with the functional group-

A) Carboxylic acid B) Ketone
C) Aldehyde D) Alcohol
SNt FRIcHS g o Teh IR-hIee arenl i g
A) FrEffeafes 3T B) fciT
C) ufesgres D) Ucalgel
Answer Key : B Your Response : B (Correct)

Question No. 68

What is the gain per cent, while selling 33 m of cloth, if there is a gain equal to the selling price
of 11 m?

A) 60% B) 50%

C) 25% D) 45%

33mmﬁﬁﬁrw§¢wwqﬁammmmaﬁwﬁﬁﬁ§mwn:maa;q?
¥ OFT AT & T g &

A) 60% B) 50%
C) 25% D) 45%
Answer Key : B Your Response : Not Answered

Question No. 69
Read the following information carefully and answer the question given below.
Aravind, Bala, Chithra, Deepa, Hari, Maha, Madhu and Abi are sitting around a circle facing the
center. Bala is third to the right of Maha and third to the left of Abi. Chithra is fourth to the left of

Aravind. Aravind is not an immediate neighbour of Maha and Bala. Hari is not an immediate
neighbour of Bala. Madhu is second to the right of Deepa.

Who is to the immediate left of Bala?

=AY AA I
A) Deepa IS e T R et s e n:g /



C) Madhu D) Chithra

faf@a IesRT i e § 96 3R A Re 1w w2s Fr 3ca) &I

3Rfdg, aren, R, &, §R, #e, Ay 3 36 v ged & ARt IR Hx A 3R H WE S T
dTell, #T & &} § e 3R 36l & a0 § WY | | g1 7, 3Rfag & o & =i s
W §l 3RfEE, #egr 3R arer Hr Apean P 7@ ¥ eR, Srer T Feweaw uSh F@ §1 7Y
T & a8 3R gEY VU W P

d1el & 918 30 THheH 91T H il o1 87

A) & B) #gl
C) &1y D) =T
Answer Key : A Your Response : Not Answered

Question No. 70

How many times a half moon is visible in a month?
A) Four times B) one time

C) Two times D) Three times

T AgleT 3 fhcell 90 3merm dic RS &ar 872

A) IR T B) T& dX
C) ar IR D) d= SR
Answer Key : C Your Response : A (Wrong)

Question No. 71

Find the group of wrong alphabets in the following series.

LX, IL, SB, OD, NA

of .’Ey /



fFfaf@a Joft & o 3R-wHg AT FfST

LX, IL, SB, OD, NA

A) LX B) SB
C) IL D) NA
Answer Key : B Your Response : Not Answered

Question No. 72
'Onam' is one of the most important festivals of-
A) Gujarat B) Karnataka

C) Kerala D) Maharashtra

'For ¥ HEA Fgeaqur ARRT 7 ¥ T g

A) TRId B) @silceh
C) adl D) HgRISC
Answer Key : C Your Response : C (Correct)

Question No. 73

What causes hydrophobia?

A) Rabies virus B) Bacteria
C) Acute virus D) Varroa virus
EERIPIAT R HROT giar &2
A) SISt &1 fawmog B) Sitaroy
C) digr fawmoy D) a3 &l fawmoy
Answer Key : A Your Response : Not Answered

Question No. 74

The Simple Interest—— W,/ yound Interest on the



A) 6.5% B) 5%

C) 6% D) 5.5%

Rl e W 2 9§ & WURer sUe .50 ¥ 3R 3 U w39 gv 3R 3 sefYr e
ThqfE SO €.51.25 §1 saTer &Y aiffer &X wa fifaw]

A) 6.5% B) 5%
C) 6% D) 5.5%
Answer Key : B Your Response : Not Answered

Question No. 75

What is acupuncture?

A) Ancient Chinese system of medicine B) Method of curing cancer

C) Ancient Greek system of medicine D) Modern method of digging deep wells

THYFET 4T §7?

A) fafercar $r e =i gomelr B) & & FclTol T dAlIehl

C) Rifercar & greiel FeArtr qorrelr D) 16X FU Wieat I 3meforen fafer
Answer Key : A Your Response : Not Answered

Question No. 76

In the given figure, the circle represents boys, triangle represents
students, and rectangle represents teenagers. What does M represent?

'
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A Gtudents who are both boys B)

and teenagers pmmTEE

T T T od
D e N b e e e e S s ( s




Students who are not boys

0 D) Studentswho are boys but

Students who are not teenagers
teenagers only

T 95 APia H, Iod TI8hl P TTRUd AT g, THeplur BIar &l Hwid
gm%ﬁaﬂt st S fAEfT war & M uer FEie e
x" L\
/3Ny A
0K
A) B)
3 T T AT TSk 3T 3T T I, ST oI5 AT
& a2 gl
0) D)
. : 3 TSl &I AT 5 2,
3 BTET T AT Shael JaT 2l = T 2
Answer Key : D Your Response : D (Correct)

Question No. 77

Cutaneous respiration takes place in -
A) Earthworm B) Fish

C) Man D) Birds

P [ T W i o e A el



A) Faam A B) #oferdr &
C) sdm@l & D) gfarr &
Answer Key : A Your Response : Not Answered

Question No. 78

Which of the following is NOT the effect of modern agriculture?
A) Eutrophication B) Biomagnification

C) Ozone depletion D) Nitrate pollution

fPrafofa & & H @ syl R F1 wra T8

A) W(Eutrophication) B) 3a 3ma¥(Biomagnification)
C) 3fiSileT 3ag1a(Ozone depletion) D) @Tsee 9euvUT(Nitrate pollution)
Answer Key : C Your Response : Not Answered

Question No. 79

Which number will best complete the relationship given below?

4:128::6:7?
A) 192 B) 195
C) 19 D) 193

FieT dr HEAr A Rw v Haer wr gafeaw S F qot Hel?

4:128 :: 6 :7?
A) 192 B) 195
C) 194 D) 193

) o N e g T —y— z ;
e i o b N A 0 L o LA s 2 ey o3 OB e

A -r a I



Question No. 80

In a party, one-fifth of the guests wanted cool drinks only. Out of the remaining, half of them
liked coffee and two-thirds like tea. If 12 of the guests opted for both coffee and tea, how many
guests had attended the party?

A) 72 B) 88

C) 90 D) 100

T 9 H, 1/5 AgA Fad A 9T o e | AV H F, I AgHEA o HEN AT GG
frar 3l & RE$ & I de wHg fRam Ay 12 AgAEt ¥ FH AR G At F REweT go
&, ar Uit A FoI Brael AgAT WA gu 972

A) 72 B) 88
C) 90 D) 100
Answer Key : C Your Response : Not Answered

Question No. 81

Two students appeared for an examination. One of them got 9 marks more than the other. His
marks was also equal to 56% of the sum of their marks. What are their marks?

A) 39, 30 B) 42,33

C) 43,34 D) 45, 54

ar BTEl o U WdieT A T forml 3T & v @ gy ¥ 9 3w Afew e W @ 39% 3,
3eTh 37T & FFT & 56% & TR F| 3T 3iF A P

A) 39, 30 B) 42, 33
C) 43, 34 D) 45, 54
Answer Key : B Your Response : Not Answered

Question No. 82
Which of the following is the first alkali metal?

A) Lithium B) Hydrogen

C) Francium [T e T R i3



Tgell &R &1 AeIfaf@d & @ @l @ 82
A) fafdas
C) oA Ts

B) grsgielal
D) aifsax

Answer Key : A Your Response : Not Answered

Question No. 83

. - 111 1 1
Simplify:{+ -+ -+ -+~ + —
plity 3 6 8 12 24

A) B)

1.5 1.75
0 D)

1.25 2
Wﬁ 1 l+l+l+i+i

8 12 24

A) B)

1.5 1.75
C) D)




Answer Key : B Your Response : B (Correct)

Question No. 84

Complete the series.

755, 151, 75.5, 15.1, (...)

A) 6.12 B) 7.55
C) 8.43 D) 9.67
Aoft &t qor &

755, 151, 75.5, 15.1, (..)

A) 6.12 B) 7.55
C) 8.43 D) 9.67
Answer Key : B Your Response : B (Correct)

Question No. 85

In this question, a statement is given followed by two conclusions. Choose the conclusion(s)
which best fit(s) logically.

Statement:

Vegetable prices are,

s e W Tt o e B e LA s



Conclusions:
l. Vegetables are becoming a rare commaodity.
Il. People cannot eat vegetables.

A) Both conclusions | and Il follow B) Only conclusion Il follows

C) Only conclusion | follows D) Neither conclusion | nor |l follows

39 W H, Th HYA & d1g o faswnd R 1w §) 3@ s a1 (37 st #) gor S e
T F T I9YFA P

FUT:
SoIR & et & o9 9¢ W/ &

sy
|. wfSerar v geler werd gl o W &
Il. NI FieTAT TET @T |

A) fasey | 3R 1l &=t 3ugerd gl B) hdel fsehy Il 3ugerd B
C) dae fashy | 3ugerd & D) & ar fashy | 3R = & || 39ged g

Answer Key : D Your Response : Not Answered

Question No. 86

If a, b, c and d are 4 whole numbers such that a + b + ¢ = d where a, b, d are all odd numbers,
then find c.

A) Also odd B) 0

C) Can either be odd or even D) Even

afg a, b, ¢ 3R d, 4 qF FEa? § a1fF a + b + ¢ = d 5@l a, b, d ¥l RAwH dwar?® §, ar ¢
AT F

A) fawe B) 0

C) am dr fawe & dhar & a1 ¥A g &l &1 D) IH

Answer Key : A Your Response : Not Answered

e Tl R R Sl [ o) -y /
I e & LB N o S Pt P R B o e ) A ) m.’&y/



Which of these can be a cause for soil erosion?
A) Ploughing of steeply sloping land B) All of the options

C) Cutting down trees D) Over-grazing of pastures

ST & T AT AT NG FT FROT 31 Tehell §?

A) TSI T aTell A &I ST B) fadedl & & el
C) ust fr e D) IRWET &7 FAF TS
Answer Key : B Your Response : B (Correct)

Question No. 88

Choose the alternative that best replaces the question mark(?) in the

given figure.

5 4 2

A) 12 B)
24
© D) 15

19




39 [@%eT @ TIA Y, A AP J 9o "Ed (7) & T W ™
I % T Hafeas 39w &l

27 38 9
5 4 2
A) 12 B)
24
C D
) ) 0=
1S
Answer Key : A Your Response : A (Correct)

Question No. 89

What will come in the place of "'?

18/* = 2/7
A) 126 B) 63
C) &4 D) 14

"« & TAT 9T PieT A TE&AT T2

Annovirtaw VAxr « D



Question No. 90

Who among the following inaugurated the Diffo Bridge in 20197
A) Sushma Swaraj B) Rajnath Singh

C) Nirmala Sitharaman D) Narendra Modi

i@ #F ¥ fFaer 2019 7 Bwr faa & 3c@ea fFr?

A) GEAT TS B) ey &g
C) fasTer dara#oT D) sReg AT
Answer Key : C Your Response : Not Answered

Question No. 91
f4@9#3=1and4 @8#4=2,then5@6#2="7
A) 9 B) 5

C) 2 D) 6

IRR4@9#3=13R4@8#4=2¢ A5@6#2="7

A) 9 B) 5
C) 2 D) 6
Answer Key : C Your Response : Not Answered

Question No. 92

Four vessels of equal size are filled with mixtures of milk and water. The strength of milk in the
four vessels is 80%, 75%, 60% and 50% respectively. If all four mixtures are mixed, what is the
ratio of water to milk in the resultant mixture?

A) 27:53 B) 13:27

C) 29: 51 D) 3:5

AT PR F IR Tl gy AR el & AT § ¥ §1 IRT et F g Fr AT FHAw: 80%,
75%, 60% 3R 50% g1 IfE welr = Aol #r fer far e, ar srea @sor F 9l 3k gy

B AN e S e "y |
i 2 BN G T e AR By e 3 e A a e ) m.’&y/




A) 27 : 53 B) 13 : 27
C) 29 : 51 D) 3:5

Answer Key : A Your Response : Not Answered

Question No. 93

Find the ODD one out from the given options.

A) F B) R
C) L D) Q
R T Reedt ¥ ¥ IR @ g
A) F B) R
C) L D) Q
Answer Key : D Your Response : A (Wrong)

Question No. 94

Rs.12000 invested at 10% Simple Interest and another investment at 20% Simple Interest
together give a 14% income on the total investment in one year. Find the total investment.

A) Rs.8000 B) Rs.18000

C) Rs.24000 D) Rs.20000

$.12000 &r TH AR FF 10% TROT sGa7 W Haq BFar =@r 3R s 30w aftr & 20%
mmwﬁﬂr%mm,wa&ﬁsmﬁmTWM%mgélgﬁrﬁéﬁrmaﬁrﬁvl

A) %.8000 B) %.18000
C) %.24000 D) %.20000
Answer Key : D Your Response : Not Answered

Question No. 95
In how many years will Rs.5000 grow to Rs.10000 at 12.5% Simple Interest?

A) 8 years B) 12 years

e Tl R R Sl [ o) -y /
~ A I e & LB N o S Pt P R B o e ) A ) of .’Ey/



$.5000 Fr TR 12.5% WHRUT AT 9 fhcder asf & FehT $.10000 & SEM?

A) 8 ay B) 12 a¥
C) 20 a¥ D) 9 a¥
Answer Key : A Your Response : A (Correct)

Question No. 96

Rakesh is standing at a point. He walks 20 m towards east and further 10 m towards south. He
then walks 35 m towards west and further 5 m towards north. Again he walks 15 m towards
east. What is the shortest distance in meters between his starting point and the point where he
is now?

A) 5m B) Cannot be determined

C) 10m D) 1m

TR T g W @S ¥ 9F @ H 3K 20 e IR T 0T A 3K 10 e Forer g1 BT
g8 UiRaH #r 3R 35 MY 3R 30F a1 3w Fr AR 5 A FoIar §1 v a7 @ f AW 15
AT I 81 3T NS g 3 3qehr Alspar FufaT & der Sr erasr g AexT # o 87

A) 5 #iex B) TR «1&r forar S aehar
C) 10 #AlX D) 1 #HieX
Answer Key : A Your Response : Not Answered

Question No. 97
If the time period of a sound wave is 0.02 s, then what is its frequency?
A) 50 Hz B) 100 Hz

C) 25Hz D) 500 Hz

Ife T eafer aeT T 3recierer 0.02 ds 8, o 3WH Imgfed == 82

A) 50 gcor B) 100 gcaf
C) 25 g&af D) 500 g&or
Answer Key : A Your Response : A (Correct)

s 8 £ PN )= T, 7
I e & LB N o S Pt P R B o e ) A ) w!;;/ ]



Which of the following countries was the host of Men's Hockey World Cup 2018?
A) Malaysia B) India

C) Germany D) Pakistan

fAeafaf@a & & Fla ar a2 qov gl e Fa 2018 Fr AsEwT U Ur?

A) Helfr=m B) #Rd
C) ST D) difehEdret
Answer Key : B Your Response : B (Correct)

Question No. 99

If y=3+22. then find the value of \/‘v_ .

A) B)

\E‘l‘l 1

®) D)

fr y=3+22 ¥ Ay I 7 T =

A) B)




N2 +1 1

0 D)

21 V2 +43

Answer Key : A Your Response : Not Answered

Question No. 100

Find the LCM of 1.05 and 2.1.
A) 2.1 B) 0.6

C) 4 D) 1.25

1.05 3R 2.1 & F.9.9. (LCM) 7T hiSw]
A) 2.1 B) 0.6
C) 4 D) 1.25

Answer Key : A Your Response : Not Answered




